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QUESTION: 47 

What does an event-based window do?
 

A. enables analysis of two series of data when their measurement intervals do not align 
precisely 
B. evaluates the values of a given set of variables and groups those values into a 
window 
C. enables identification of a sequence of defined events 
D. increments a counter based on whether an expression evaluates as true 

Answer: B 

QUESTION: 48 

Who can log in to the Management Console?
 

A. root and dbadmin users only 
B. root user only 
C. any user with permission granted 
D. dbadmin user only 

Answer: C 

QUESTION: 49 

Which methods exist to troubleshoot spread? (Select two.) 


A. Power cycle the server. 
B. Restart the spread daemon on the node. 
C. Restart the Vertica process on the node. 
D. Verity that spread.conf is the same on all nodes.  
E. Verify that spread.conf is different on all nodes. 

Answer: A, D 

QUESTION: 50 
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What are the standard clauses in an analytics query? 

A. It includes a PARTITION clause, with required over_clause, order_clause, and 
frame_clause.  
B. It includes an OVER clause, with required partition_clause, order_clause, and 
frame_clause.  
C. It includes an OVER clause, with optional partition_clause, order_clause, and 
frame_clause.  
D. It includes a PARTITION clause, with optional over_clause, order_clause, and 
frame_clause. 

Answer: B 
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